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Your harvest; it should be yours — R7° 225w 2DTIRP

Overview

Tynw 17 explained the reason WM is AXI72 M, according to 172X "M (even
though the 770 writes [concerning w7n] 228N KY), is because the 77N
explicitly permitted 7X17 from w7 since it is referred to as 037°Xp, ‘your
harvest’; you may benefit from it. Mmoo explains that even though
elsewhere this word 037°¥p teaches us something else, nevertheless we can
also derive X317 00 (by wn) from 237°%p.

nooIn asks:
—91Y NONT )7 XIN DNHYAN 12 IYNY 12929 NN

The X'"3w9 finds this astounding! How can we know that the m0o of

037°Xp is coming to teach us this nx17 107 for wn?!
— (0w 3y 97 INYNAYS 39 P92 TN IPYITTIY TPION NN

For this same word is necessary for what it is expounded in nma» N3on in

BRYRW" ' P55 where the Xn3 interprets the word 27°%p to teach us -
- 2 98P XD ID:‘VS‘p

‘Your harvest’, is forbidden to be reaped before the 711v; but not a harvest
which is a /m1%%; that is permitted even before Wi n°xp —

— 591 WY M) >y
And 211 should also have answered in this manner; that 2>7°%p does not teach
X317 707 but rather the 07 of Mx»n NXp.

N1B0IN answers:
— D998 AN9) *T8P ANNY S8 MY *NH MHYUNI AN NI MY Y

And one can say; that we can derive both lessons, since the ;7710 did not
write 9°%p nwN9, and the 770 could have written just 7992 and it wrote

Q279XP, therefore -
NN NN YIvY

" The P10 states (%33 [TWAR] RIP*) concerning the MW 1277 that 1727 DX 037°%p NPWXI DX anXaT; indicating
that the W is 037°¥P N1 and no other harvest is permitted until the 91y has been harvested first.

? One of the examples in the (X,xy MAIM) Mwn of a M¥» %P is if place is needed in a field for students to
learn 7N, it is permissible to cut the grain (before the 1mW) to make place for the o*71%n.

? The x»3 here asks on 7°pif (who maintains that 12980 X is only 72°9X M19°X and not 737 MO°X), why is the
word 037°X¥p necessary to teach us 7X17 N,

* Were the 770 to write 7"%p n°wX1 we would not permit 71%» 7°¥p and there would be no 7x37 207 either.

> Were the 77N to write 7P we would have derived that m¥» 7°¥p is 70, but we still would not have
known 7R3 i1 for W,
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We can derive from the word 027°%p two lessons; that mx» %P 891 (from the
extra '2' in [0]27°Xp) and X317 07 (from the extra '2' in 227°Xp).

Summary
There are two extra letters in the word 027°%p the '2' excludes mM¥»n 7°¥p and

the 'n' allows 1IR3 0.

Thinking it over

mooIn teaches us that there are two lessons to be learnt from 237°%Xp (from
the > and the 1). Previously by 7170 where the 770 writes 2dn»™17n there
should also be two 2°71°% (from the '> and the 1), nevertheless both 172x "
and 1p°117 derive only 717°%, how is that here we derive two aga TN

® See x"wmn.
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